The stock markets

- think are the pros and cons-of borrowing money from: .
“.1  family and friends
2 your bank S

-3 a venture capital group?

’Li.sté"ning and note-taking

2:21-2:23 John and Gunter are discussing different ways o'f,raisAing large amounts of
money. Listen tothe conversation and make notes of the advantages and.disadvantag¢s of
each way. : -

Adva‘nfages

research

Vocabulary

| You are going to read an article about the Bertelsmann group. Before you read, match a
word or phrase on the left with a definition.

to establish a) something that is necessary, or that a rule says you must do
unlisted public b) to starta company '
company ¢) astatement showing the assets, liabilities, income and
requirement expenses that the parent company and its subsidiaries have
consolidated d) the shares of this company cannot be bought or sold on the
financial reports stock exchange

considerable e) buying something from the person you previously sold it to
stake f) the part of a business you own because you have invested in it
PO g) the first time a company’s shares are offered on the stock
buyback exchange A
large in size

Reading for gist

§°% Read the article opposite about Bertelsmann.
Eind answers to the questions,

1. What kind of company is Bertelsmann? ¢
2. What-kind of company is Groupe Bruxelles Lambert?




7.1 :About‘ business

. 15 passed from 4
" Heinrich to his son-in-law, Johannes several mllhdh euros a year
Mohi: It has stayed in the hands of the On the other hand one con31derab1e
Mohn family ever since. ,advantage of being an AG is that you

: Bertelsmann became an AG (a ~ can take over other companies without
B 2 German public limited company) in s it costing you a single cent. All you
1971, but instead of offering shares to need to do is to offer the owners some
the public on the stock exchange, the of your shares in return for some of
Mohns decided to keep all the ‘shares theirs.

This is exactly what Bertelsmann dld
so when they took over Groupe Bruxelles

Bertelsmann is now “enoe s i oy 20
.€4.5 hillion poorer !

S

25% stake in the Bertelsmann
an option to sell those shares o
stock exchange later.

In 2005, Frére announced that
he warited to do just that. This left -
the Mohn family with only two. -
choices - they could either buy back:
s0 Frére’s share of Bertelsmann to keep
everything in the family or let Frére do-
an IPO (Initial Public Offering) and risk
having outside shareholders.

The Mohns decided on the buyback
option. They offered Frére €4.5 billion
for his share of Bertelsmann AG and-
Frére accepted. '

As a result, the Bertelsmann Group
is now €4.5 billion poorer and may
have to sell its 50% stake in Sony
BMG Music Entertainment, one of the
world’s largest and most successful
music publishers, to finance the
buyback.
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Reading for detail

Work with a partner and mark these sentences T (true) or F (false).

Bertelsmann was established in 1835 and started producing films and records. [_]

When the company went public in 1971, it did not offer its shares on the stock exchange U
The company is not listed on any stock exchange (]

It can cost a company millions of euros every year to meet a stock exchange’s requirements. L]
The only way to take over a successful company is to offer the owners a lot of money.

The owners of Bertelsmann paid €4 5 billion to stop the company from being listed on the
stock exchange [}

O N

Discussion

FF Work in small groups. Were the Mohns right to pay so much money to buy the shares back?
Why ? Why not?

{hotusivens
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e € rica
The Fe’deral Reserve anriounced it would drop its ! Japanese industrial production increased slightly
key interest rate by (1) to (2) .This ¢ by (9).. .. and.unemployment fell by
is the second drop in interest rates in the last six (10)__. 102,890,000 last year. The yen remains
months. Productivity grew by (3) strong at {11)._.. " yén to the dollar. Bank
in the third quarter, compared with (4) in lending rose by 2:4% in the year to April, the
the first six months. Eniployers reported (5) ’ fastest increase i the last (12) years.
new jobs had been created in July.
Germany
Germany’s job growth was stronger than expected Jobs in the service industry rose to (13) last
in March. Unemployment fell by (6) to i year while jobs in manufacturing fell by
4,370,000. Its trade surplus grew again in the first (14) . The National Statistical Office
quarter-to (7) up 0.4% over the previous reported that the number of jobs paid below the
quarter. The German car industry reported that : national minimum wage has increased to approx.
arecord (8). vehicles were exported in the " | (15) . It also reported that (16) jobs,
first three months. 3.2% held by those aged (17) were paid

: below (18) an hour

Saying numbers
1. Can you say the following numbers?
a 5th d lind g 0.08 i 7.71%

b 2/3 e 13-17 years h 6,000,000 days
c £199,184 f 156,000,000 m? i 55013

ﬂ Complete the sentences using the numbers in 1.

1 Approximately 67%, or , of all start-up compames fail within the first five years.
2 Inayear the chances of becommg a victim of viruses, spyware or phishing are about

.. The cost to business is estimated to be several billion dollars a year. -
3 The average UK household consumes about of tap water a year and can expect to

receive a water bill of about £440. That works outat __# __ p per litre.

4 According to research, stress is responsible for ¢ lost annually in the UK.

5 The average price of a house inthe UKis __.  -that'supby ___ over last year.

6 The new economic city of Hail in Saudi Arabia will have an area of and house
some 80,000 people.

7 The Republicans voted against increasing the minimum wage for the time in less

than a month
8 The average lifespan of a car in the UK has been estimated as between by the
Commussion for Integrated Transport.

Listening for detail

@ é’ PR T ]

¢ Listen to four economic reports and write the numbers you hear in the spaces.




Further interactive vocabixlary pPractice on fhe DVD__-ROM.

7.2 Vecabulary

Describing trends

B8 Lookat the newspaper headlines below describing trends angd draw an arrow to show the
direction of the trend.

[ ® Ministers warg
~ of huge rise in
nuclear waste, -

Discussion

B work with a partner. Decide whic

. Oh my

No, it’s the
h headline: goodness! Is share price of the
) a) is good news for young consumers that the patient's company he owng,
Internet . b) means goods and services

Yesearch

. blood pressure?
have become more €xpensive \

¢) means there are fewer jobs

d) means that
future

e) Is bad news ;f
Adobe or Del]

) will affect the plastics industry and make their products
more expensive.

He’s feeling much
better ngw!

people will have Jegs money to spend in

you have invested in Companies like

Adverbs and adjectives

% Read the extracts below from economic re
Do the underljned

adverbs and adjectives in t}
describe:

ports.
¢ extracts

a big change? (A)

a sudden or fast change? ()
asmall change? (B) a slow change? (D)

You may need to use more than one letter

Unem

ploymen n slightly over the past 12 months.
2 The overall cost for information techn

f € economical cars |
dramatically after PGT announced it Was planning to close its factory in China.
nics designed for ‘older’ peopl

e LT T

consumer electro

e will grow steadily over the next

6 The company has grown rapidly over the [ast five years. Profits var;expected to be u;;O;Zo:ﬂ‘a“st);earﬁ
oL 2 ZTOWN fapidly ——— 2 YR Y S Akl
7 The European Central Bank has said it js thinking of increasing its key lending rate fractiona”y in the
autumn
8

——
Wages and salaries in the Indi
T 2078 1N the Indie

S mM,\Mﬁ\ﬁ:\wm_k‘“mﬁ_,M_,___W_-_,___.___mw_“.
an IT industry have risen quickly in the fast few years
“““h__mmmﬁ~mw\

Discussion

EZ Look at the extracts above. Are the trends p (positive) or (negative)
are positive or negative for.

? Think about whe they
1 2

— 3 4 5




